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English version:#iER
There are candies.
Stage of the bottom is square that one side is 5 pieces.
Second stage, one side is 4 pieces.
Gradually stack up to make a quadrangular pyramid.
Stacking every stage, we found to be a total of 55 pieces in the 5 stage.
First, 5 pieces plus 0.5 piece and multiply it by 5.
Answer to this is 27.5.
Next, 5 plus 1 and multiply 6 by .
Answer to this is 2.
Finally multiply 27.5 by 2 is 55.
We calculate in this way.
Then when length is 6 and width is 5, an equilateral triangle (15) into
one side of quadrangular pyramid
At that time, all the number is 75. ¢The truly answer is 70.
It become like the list of below the same reason under any
circumstances.
And square will increase one by one to one edge of the square at the
bottom of the pyramid when the combined

number of steps at the the number of square that| 2 s[4 [s]s BEREE
one side of Stage of the | pieces 8) | (18) | (25) | (36) | {49) | (64) | (B1) | (1000
bottom of the candy good. |,..... o
At this time, you can (the total
Search forthe number all the number & 14 0 |56 |91 | 140|204 | 285 | 385
pisces
using the multiplication.
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The way men of today think. There are many serious matter but we can come
In touch with new world. We want to become a person who can do soft way.
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How many candies do you have?
When the bottom one side 5 square, the second stage from the bottom one side 4 squ
And we stack up gradually until the top stage one.

The number of one side of the bottom of the stage is Ais obtained
by the following equation.

{(A+0.5)* Al (A+1)*1/3

After this expression corresponds to this problem, as follows.
{(5+0.5)*5}*(5+1)*1/3

=27.5%2

=55 Answer.55 pieces

How many candies do you have? When the bottom a rectangle 6 long and 5 wide.
And we stack up gradually until the top stage a rectangle 2 long and 1 wide.

A.

We think paste an equilateral triangle of side 5 on one side of the square pyramid
of bottom is square that one side is 5 pieces. Responsible =Seki  *Numajiri

/

55+15=70
A.70 pieces
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